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Practice: If we go back to the equation from earlier, we can determine its VATIOUS parts.
2 NaCl + Hz504 (aq) = Na:S0, + 2 HCL (aq)

1. What are the reactants?

[

What are the products?

How many atoms of sodium enter the reaction?

B W

How many atoms of sodium are produced?
What does the = stand for?

—

]

How many moles of hydrogen go into the reaction? )
How many moles of hydrogen are produced?

6

T

8. How many molecules of HCI are produced? R
9. What are the coefficients for NaCl?  H,80,? _ Na80y?  HCQIP
Balance the following equations.

10. _Zn+__HCl= __ZnCh+ H;(g)

I.__KCIOs 2> __ KCl+ _ Oy(g)

12. __Ss+__ Fa(g) > __ SFs

13. __Fet+ Oa(g)=  Fe:Oy

14, CHs+ __O:(g)> __CO:+  H0

15, Mg+ Oy(g)=  MgO

16.  H0+ __N;O3 2 HNO;(aq)

[7. __Na;O+ __H,0->  NaOH (aq)
18, Fe+ H:02> FesO4+ H;(g)
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